Course: IBPS RRB Prelims
Subject: Mensuration, Probability, Permutation & Combination

Time:10 Minutes
Published Date: 20t July 2020

Q1. ush QA Tidh ursy Y arey o 44 A+ &, 7 I+ yrsw & fFa«r 9= enRa (hold) &
qhdT &7

(e =22/7 )

(a) 1078 o7 AT

(b) 1792 TeT T

(c) 303 T JHY

(d) 792 T T

(e) 972 TeT T
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Q2. 3 31 ST Y BT 4 A 31 5 VY § v oS FAA: 6 YA 3 4 AA R, s 1
A Tl IR F3FF & are ST §. 59 B3 Y e fhae 2

(@) 7 @Y

(b) 14 |

(c) 21 BT

(d) 28 {FY

(e) 32 T
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Q3. Tk WA GISTS ATelT U AT T T Y Ol 8. 6 Jelig AW Y 37: 3 arew
IR FT1 3aX 132 @ | (1 =22/7 &)

(a) 22 HieX

(b) 20 HIeX

(c) 21 #HreX



(d) 24 FHex

(e) 26 HIET
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Q4. T ST 1 AT g7 ¢ ¥ 3 v gelry Aerer Y gwehr fanait i a9me g9 sqr w0 F
ATT-FTT IR Fo1 & 30 HUE HH AT Y IMaTFdT ¢. IS 38 a1fa 30 A/Rerc & at
39 g AereT i Bow A &2 (n=22/7 &)

(a) 10.5 #Hex

(b) 3.5 HAleX

(c) 5.5 HIeX

(d) 7.5 #AeX

(e) 8.5 HIeX
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Q5. T FAS[eT T &1thel 216 o1 QT § 3 gHhY [0 3 : 4 1 5 & e[ H §. FAser 1
afR#ATT fhae 872

(a) 6 TFY

(b) 12 I

(c) 36 THT

(d) 72 I

(e) 24 @AY

(a) 6 cm

(b) 12 cm

(c) 36 cm

(d) 72 cm

(e) 24 cm
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Q6. ITE 3% 3, 5, 6, 9 FT IUANT Fa WY WHITAT AR AT FEAT F Tergfar & faa
FATIT 1T § 3R 9o g Y 3R FA A sgafeyd faar sar @, a g=ar 6953 iy
Rufa Far geft 2



(a) 20

(b) 16

(c) 18

(d) 15

(e) 24
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Directions (7-10): fe=1faf@e argamer #1 eareqd® #¥ 3R 38& 3TaR 9T gef & 3
difse-

SHITAT & IR AT H 1200 3IFRT §1 378 F, 880 & Time magazine & forw
Heashrsd fhar 3R 650 o7 Economist & ToIT sashisd fhaT| Ucdeh HIISBRT AT dT Time
magazine IT Economist IT &leAl o foIT TeHPIST Y Aohdl g1 I T FIFRT Fr
refToh T 8 YT 7 8, o TRl AT HIfST fon-

Q7. E_I_,?T T =4fFd o Time magazine & fAT GeuswEy fFar 8?2
(a) 11/15

(b) 11/12

(c) 7/15

(d) 7/11

(e) 4/15
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Q8. g 1T sqfFd « Economist & foT geawmmsa fFam 32
(a) 13/21

(b) 13/20

(c) 13/24

(d) 12/30

(e) 11/24
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Q9. I 1T ST & Al AT & forw gewwmsa fFam 32
(a) 22/40



(b) 11/40

(c) 3/5

(d) 1/5

(e) 13/40
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Q10. If& Time magazine F fAT eUHST FIA AT FRBIRAT F & Th FRIFH HY
Wm#wm%l oY sahr wifiRsrdr 47 819 fF 39 Economist & farw &t

HeuwIsd fhar g7

(a) 3/8

(b) 5/8

(c) 2/3

(d) 1/8

(e) 7/8
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Q11. guif #r ggfar & T a, b, ¢, d, e F F fler FUIT T FUAYT FIF et areal F7

fa=ATor foRaT ST T 82

(a) 55

(b) 60

(c) 61

(d) 69

(e) 72
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Q12. ereg SIMPLE & Ui T 39ANT FTa citet Juit & fraet 3ot a1 fawde ereq a=me o
e ¢, Uit HY eRIgfar 1 sregafa a2

(a) 100

(b) 160

(c) 95

(d) 120

(e) 130
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Q13. If& FE el IIIFA (unused) FTET AT ¢ Y 6 ATF fFrcrsit aHI & 6 el F qTelt o
qHhd 82

(a) 1024 T8H

(b) 860 I

(c) 720 AR

(d) 700 alrh

(e) 820 a1
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Q14. Ter Y A3 A F AeTesd T A fAHTer 714 F135 F A1 A FTl [T F AT [ATH 1 A

&1 yTfehar &7

(a) 15/26

(b) 7/13

(c) 27/52

(d) 3/13

(e) 11/52

L1Difficulty 3
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Q15. & T8 TH 1T $h I &. 37 a1l & T 2 T 30T T 37T FE&AT 3T Y 741
aTRrRdr 87

(a) 1/9

(b) 1/6

(c) 2/3

(d) 1/4

(e) 5/9

L1Difficulty 3

QTagsProbability

QCreatorDeepak Rohilla

Solutions

S1. Ans.(d)



Given, 2 mr = 44

44 22 _ 22%7
=—=—== =7cm
im T 22

Inner radius of pipe =7 -1
=6cm

Volume of pipe = nr2h

= TX6° X7

— 22 -2

== e xT

=792 cm®

Sol.

S2. Ans.(b)

Total volumes of two cylinders
=mrih, + wrih;
= % [(4x4%6) + (5x5x4)]

22
== (96 + 100)
== X196 = 616 cm’
Let the radius of the disc be r cm.
~mrih =616 [+h=1]
Trixl =616
=2 xr? =616

616x7

=22 = 196
2Z

=r=4+/196 =14 cm

» Radius of disc = 14 cm
Sol.

S3. Ans.(c)
Sol. Let the internal radius of the park be r and the external radius (with the path) be R.
Now, according to the question,

Difference of circumference = 132

w2mR —2mr = 132

=2m(R—r) =132

132
SR—r==:
& T
132x7
Zm22

Hence, the width of path = 21m

S4. Ans.(b)



Sol.

Let the radius of circular field =rm

Speed of person in m/s = g = %m;"s

According to the question,

22— 30 = 4mr-4r=30
/2 142

= (4xZ-4)r =30
= (12.5 — 4)r = 30 = (8.5)r = 30

30
sr=—=35m
8.5

S5. Ans.(d)

Let the sides be 3x, 4x and 5x, respectively.
Here, (3x)* + (4x)* = (5x)*

Since, the sides of triangle satisfies
Pythagoras theorem.

-~ Triangle is right angled triangle

~ 2 X3xX4x = 216

= 6x° = 216
= x? = 22=36
- x=y‘%=ﬁ

Perimeter of triangle
=(3x+4x 4+ 5x)cm

=12 % cm
Sol. =12=x6=72cm
S6. Ans.(c)
Sol.

The number of four-digit numbers begin with 3 or 5 is 3! Each.

The number of four-digit numbers that begin with 63, 65 is 2! Each.
After that, the numbers are 6935, 6953.

The rank of 6953 is 2(3!) + 2(2!) + 2 = 18.

S7.Ans.(a)

Total executives = 1200

Subscribed for Time magazine = 880
Subscribed for Econamy = 650

Mo. of executives subscribed for both
= (880 + 650)—1200=330

Sol.
Required probabili _ 580
equired probability = 1200
11

R



S8. Ans.(c)

Total executives = 1200

Subscribed for Time magazine = 880
Subscribed for Economy = 650

Mo. of executives subscribed for both
= (880 + 650) — 1200 = 330

Sol.
. . 650
Required probability = 1200
13
T 24
S9. Ans.(b)

Total executives = 1200

Subscribed for Time magazine = 880
Subscribed for Econamy = 650

Mao. of executives subscribed for both
= (880 + 650) - 1200 =330

Sol.
: ... 330
Required probability = 1300
11
40
S10. Ans.(a)

Total executives = 1200

Subscribed for Time magazine = 880
Subscribed for Econamy = 650

Mo. of executives subscribed for both
= (880 + 650)—1200=330

Sol.
R ired bability = 530
equired probability = 880
3
8
S11. Ans.(b)
Sx4x3x2x1
Total words =
Zx1
Sol. =60

S12. Ans.(d)



Total words formed = ®p;
_6x5x4x3x2x1

IxZxl

Sol, =120

S13. Ans.(c)
o], Required ways = 6! =720

S14. Ans.(b)
Required probability = — + 2-
e?qmr'e proba 11t:,-'—52 =
T3

Sol.

S15. Ans.(a)

Favorable cases = (3, 3) or (3, 5)

Or (5,3) or (5, 5)

iyl 1111
& B [ G & [ & B

4 1

Sol. 36 °



